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QUESTION 1
You need to create a stored procedure that passes in a person\\'s name and age.

Which statement should you use to create the stored procedure?

A, CREATE PROCEDURE StoreData (@UserMame, [@Age)

B. CREATE PROCEDURE StoreData
gUserName nvarchar({255),
BAge int

C. CREATE PROCEDURE StoreData
gUserMame char,
gage double

D. UPDATE PROCEDURE StoreData
gUserName nvarchar({255},
@Age int

A.B.C.D.

Correct Answer: A

QUESTION 2

Which type of application has the following characteristics when it is installed?
Runs continuously in the background by default when the startup type is set to automatic
Presents no user interface

A.

Console-based

B.

Windows Forms

C.

Windows Service

D.

Batch file

Correct Answer: C
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A Windows service runs in the background and has no interface.

QUESTION 3

How many parameters can a default constructor have?
A.0

B.1

C.2

D. 3 or more

Correct Answer: A

If a class contains no instance constructor declarations, a default instance constructor is automatically provided. That
default constructor simply invokes the parameterless constructor of the direct base class.

QUESTION 4

The purpose of a constructor in a class is to:
A. Initialize an object of that class.

B. Inherit from the base class.

C. Release the resources that the class holds.
D. Create a value type.

Correct Answer: A

Each value type has an implicit default constructor that initializes the default value of that type.

QUESTION 5

You are creating an application for a priority help desk center. The most recent call must be handled first. Which data
structure should you use?

A. queue
B. hashtable
C. stack
D. binary tree

Correct Answer: D
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